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INSTRUCTIONS AND INFORMATION

1. Answer THREE questions as follows:

. SECTION A: COMPULSORY

. SECTION B: Answer any ONE question from this section.
. SECTION C: Answer any ONE of the two questions.

2, Number the answers correctly according to the numbering system used in this
question paper.

3. Write the number of each question above each answer.

4. Read the questions carefully and start EACH question on a new page.

5. Leave at least ONE line between subsections of each question.

6. Start each guestion on a new page.

i Answer questions in full sentences and ensure that the format, content and context
of your responses comply with the cognitive requirements of the questions.

8.

Answer ONLY the required number of questions. Answers in excess of the required
number will NOT be marked.

9. Use ONLY blue or black ink.
10.  Non-programmable pocket calculators may be used.

11. Write legibly and present your work neatly.
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QUESTION 1 (COMPULSORY) 20 MARKS - 10 MINUTES

1.1, Various options are provided as possible answers to the following questions.
Choose the correct answer and write ONLY the letter (A = C) next to the
question number (1.1.1 - 1.1.5) in the ANSWER BOOK. e.g. 1.1.6 D.

1.1.1 The method that is used to calculate GDP at market prices by adding the
final values of all final goods and services produced is called...

A Expenditure
B Income

C Production

D Consumption

1.1.2 Successive periods of expansion and contraction in the level of economic
activities is referred to as ... cycles.
A business
B economic

C productivity
D inflationary

1.1.3 Goods that are provided for the society as a whole are called...

A private goods

B collective goods
C demerit goods

D community goods

1.1.4 The interaction of economies with trade as an important element is
known as ...

A privatisation.
B globalisation.
C entrepreneurship.
D export promotion.

1.1.5. The units of accounts which can be used to settle balance of payments

deficit is called...

A Current accounts

B Bank accounts

Cc Special Drawing Rights
D Savings accounts
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1.2 Choose a description from COLUMN B that mat
only the letter (A-l) next to the question number (
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NSC

Column A Column B
1.2.1. | Basic price A. | Caused by changes in net investments by
businesses and the government.
1.22. | Juglarcycles |B. |One country can produce goods at a lower
opportunity cost than others.
1.23. | Progressive C | Portion of the income that is not spent.
tax
1.24. | Comparative | D. | An initial change in spending to the total
advantage change in income.
1.2.5. | Savings E. | The initial value in production of final goods
before taxes and subsidies are considered.
1.2.6. | Multiplier F. | The inverse relationship between employment
and inflation rate.
G. | The percentage paid in tax increases as

income levels increases.

1.3.

will NOT be accepted.

Give ONE term for each of the following descriptions. Write only the term next to the
question number (1.3.1.-1.3.4.) in the ANSWER BOOK. Acronyms and abbreviations

1.3.1 Spending that is not influenced by the level of output and income.

1.3.2 Factors that originate outside of the economy that causes business cycles.

1.3.3 People who are able to use public goods and services without paying for them.

1.3.4 The value of a country's currency in terms of another currency.
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TOTAL SECTION A: 20 MARKS

QUESTION 2: MACROECONOMICS 40 MARKS - 30 MINUTES

2.1 Answer the following questions.

2.1.1 Name any TWO macro-economic objectives of the state.

(2)

2.1.2 How would an increase in the value of the US Dollars affect the value of

the South African Rand? (2)

2.2 Study the picture below and answer the questions that follow.

2.2.1 Identify any ONE state owned enterprise from the picture above. (1)
2.2.2 Give any level of the South African government. (1)
2.2.3 Briefly describe the term pareto efficiency. (2)
2.2.4 What is the negative effect of service delivery protests on the standard

of living? (2)
2.2.5 How can privatisation of state owned enterprise benefit the South African

economy? (4)
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2.3 Study the graph bellow and answer the questions that follow.

USD ZAR Historical Charts - - -

USDYZAR 60 Oay Huntory - Mas 10 00 07 GMT

&
VP A0 G S S

2023 © Gxchangerates org uk
2.3.1 Identify the South African currency shown above. (1)
2.3.2 Name any ONE exchange rate system. (1)
2.3.3 Briefly describe the term devaluation. (2)

234 Explain the negative effect depreciation of a currency has on consumers. (2)
2.3.5 How does the Russia-Ukraine conflict negatively affect South Africa? 4)

2.4  Briefly discuss availability of natural resources and availability of /abour
resources as reasons for international trade, (8)

2.5  How does an ineffective tax system affect the efficiency of the government? (8)
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QUESTION 3: MACRO-ECONOMICS 40 MARKS - 30 MINUTES

3.1 Answer the following questions.

3.2

3.1.1 Name any TWO sub- accounts of the balance of payments. (2)
3.1.2 What is the effect of corruption on the standard of living? (2)

Study the article and answer the questions that follow.

SOUTH AFRICAN MEDIUM TERM BUDGET POLICY STATEMENT

The finance Minister, delivered the Medium-Term Budget Policy Statement (MTBPS)
to the Members of the National Assembly on Wednesday, 1 November, at 14h00 at
the Cape Town City Hall. The MTBPS plays a critical role in the overall budget
process, as it sets out the policy framework for the budget that is presented every
February. It also provides the country and its elected representatives with an update
on National Treasury’s economic forecasts, adjusts the budgets of government
department and makes emergency changes to spending.

Parliament, Monday, 23 October 2023

3.2.1 Identify the fiscal instrument that is discussed on the above article. 1)
3.2.2 Give any ONE example of direct tax. (1)
3.2.3 Briefly describe the term bureaucracy. (2)

3.2.4 Why is important for the government to ensure that public funds are not
poorly managed? (2)

3.2.5 How does a decline (decrease) in tax revenue negatively affect the
economy? (4)
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3.3  Study the table below and answer the questions that follow.
SOUTH AFRICA: TERMS OF TRADE
j‘s > Index of import | Index of export
Year prices prices Terms of trade
2020 141 171 123.3
2021 153 191 128.3
2022: |- 163 200 A
3.3.1 Identify the index of export prices in the year 2022. (1)
3.3.2 What is the trend of import prices from the table above? (1)
3.3.3 Briefly describe the term foreign direct investment. (2)
3.3.4 What benefit will an increase in the index of export prices have on the
economy? (2)
3.3.5 Calculate the terms of trade for 2022 (A). (Show ALL calculations), 4)

3.4  Briefly discuss politicians and special interest groups as reasons for public
sector failure. (8)

3.5  How does borrowing to finance a deficit on the balance of payments affect
economic stability? (8

TOTAL SECTION B: 40 MARKS
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SECTION C
Answer ONE question from this section in the ANSWER BOOK
Your answer will be assessed as follows:

CTURE OF ESSAY MARK
STRY ALLOCATION
Introduction Max. 2
Body:

Main part: Discuss in detail/In-depth discussion/Examine/ Critically discuss/ Max. 26
Analyse/Compare/ Evaluate/Distinguish/ Differentiate/Explain/Assess/Debate X
Additional part: Give own opinion/Critically discuss/ Evaluate/Critically
evaluate/Draw a graph and explain/Use the graph given and explain/Complete the
given graph/ Calculate!DeducefCompareiExplainfDistinguishlInterpreU Briefly Max. 10
debate
Conclusion: Max. 2
Any higher-order conclusion should include:
» Abrief summary of what has been discussed without repeating facts already
mentioned in the body
* Any opinion or valued judgement on the facts discussed
* Additional support information to strengthen the discussion/analysis
* A contradictory viewpoint with motivation, if required
¢ Recommendations
TOTAL 40
QUESTION 4: MACRO-ECONOMICS 40 MARKS - 40 MINUTES
. Discuss in detail the markets within the four sector model. (26)
. How can an increase in consumer spending contribute to the economy of the
country? (10)
[40]

QUESTION 5: MACRO-ECONOMICS

40 MARKS - 40 MINUTES

. Discuss in details features underpinning forecasting of business cycles. (26)
° How can South African Reserve Bank (SARB) use monetary policy to correct
fluctuations on the economy? (10)
TOTAL SECTION C: 40 MARKS
GRAND TOTAL: 100 MARKS
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QUESTION 1

5 s 3

1.2

1.3

MULTIPLE-CHOICE

1.1.1 C - production v'v'

1.1.2 A - business vv

1.1.3 D - community goods v'v'
1.1.4 B - globalisation. v'v

1.1.5 C - special drawing rights v'v/

MATCHING ITEMS

1.2.1 E- The initial value in production of final goods before taxes and
subsidies are considered. v

1.2.2 A - Caused by changes in net investments by businesses and the
government. v

1.2.3 G- The percentage paid in tax increases as income increases. v’

1.2.4 B - One country can produce goods at a lower opportunity cost than
others. v/

1.2.5 C - Portion of the income that is not spent. v

1.2.6 D - An initial change in spending to the total change in income. v
CONCEPTS

1.3.1 Autonomous spending v’

1.3.2 Exogenous approach v

1.3.3 Freeriders v

1.3.4 Exchange rate v’

TOTAL SECTION A: 20 MARKS
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QUESTION 2: MACROECONOMICS 40 MARKS - 30 MINUTES
2.1  Answer the following questions.
2.1.1 Name any TWO macro-economic objectives of the state. (2)
s Economic growth v/
. Full employment v/
. Economic equity v/
. Price stability v
. Exchange rate stability v
2.1.2 How would an increase in the value of the US Dollars affect the value

2.2,

2.2.1

2.2.2

2.2.3

of the South African Rand? (2)
= South Africans/ holders of the rands will require more rands to buy

goods that are in US Dollars. v ¥
e An increase in the price of US dollars will have a negative impact on the

value of the rand, as this will lower the value of the South African Rands. v v/
(Accept any other relevant and correct response)

DATA-RESPONSE
Identify any ONE state owned enterprise from the picture above. (1)

ESKOM v/ PRASA v /| SABC v/ Denel v/ SAA v

Give any level of the South African government. (1)
o Central/ National government v/

. Provincial government v/

. Local government v/

s Parastatals v

Briefly describe the term pareto efficiency. (2)

Pareto efficiency means making one better-off without making others
worse off. viv/
(Accept any other relevant and correct response)
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2.2.4 What is the negative effect of service delivery protests on the
standard of living? (2)

. Service delivery protests are the enemy to service delivery as they
blockade provisioning by the state. v'v/
. During protesting, some communities’ resort to destroying critical
facilities
like schools, this is a set-back to the process of development. v'v/
. When service delivery protests erupt, people and the government
cannot focus on personal well-being thereby lowering the standard
of living. viv/
(Accept any other relevant and correct response)

2.2.5 How can privatisation of state owned enterprise benefit the South

African economy? (4)
. Privatisation can increase the tax base for the government hence

allowing the state to offer more services for the community. v'v/
. Privatisation eliminates the burden of bailing-out parastatals from

government, thereby allowing the state to focus its attention to
provisioning of services. v v
. The private sector is well resourced because of its profit motive; this
improves the allocation of resources in the economy. v'v/
(Accept any other relevant and correct response)

2.3 DATA-RESPONSE
2.3.1 Identify the South African currency shown above. (1)

Rands v’/ ZAR v

2.3.2 Name any ONE exchange rate system. (1)
s Free-floating exchange rates v/
. Managed-floating exchange rates. v’
o Fixed-exchange rates v/

2.3.3 Briefly describe the term devaluation. (2)

Devaluation refer to the deliberate action by the central bank to reduce
the value of currency in relation to other currencies v'v/
(Accept any other relevant and correct response)
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2.3.4 Explain the negative effect depreciation of a currency has on

consumers. (2)

. Import Cost Increase: imported goods become more expensive, leading to higher
costs for businesses and consumers. This can fuel inflation as well.. vv'

. Purchasing Power Reduction: The decreased value of the currency means that

consumers can buy fewer goods and services both domestically and abroad with
the same amount of money. vv/

. International Debt Burden: If a country has debts denominated in foreign
currencies, depreciation can increase the cost of servicing that debt, potentially
leading to financial instability. v'v/

° Capital Flight Risk: Depreciation can undermine investors seek more stable assets elsewhere. This
can lead to a loss of investment and economic instability. v'v'
° Cost Push Inflation: Depreciation can lead to higher costs for imported raw materials and

intermediate goods, which can push up production costs for businesses and results in
cost push inflation. v'v/

. Reduced Foreign Investment: Foreign investors may be deterred from investing in the
country due to currency depreciation, as it reduces the returns they can expect when
converting profits back to their own currency. v'v/

° Wealth Redistribution: Currency depreciation can disproportionately affect certain groups,
such as those on fixed income or holding savings in the depreciating currency, leading to
wealth redistribution and social tensions. v'v/

(Accept any other relevant and correct response)

2.3.5 How does the Russia-Ukraine conflict negatively affect South Africa? (4)

e Import prices from these countries have since become more expensive
due to supply shocks. vv

e This conflict has slowed down production for South Africa thereby
slowing down economic growth. v'v'

e South African exports to these counties have since decline thereby
lowering foreign income earned by South Africa. v v/

e High level of unemployment and low standard of living can be
experienced as South African’s lose their jobs due to a high input
costs. vv

(Accept any other relevant and correct response)

2.4. Briefly discuss availability of natural resources and availability of labour
resources as reasons for international trade. (8)

The availability of natural resources

. Natural resources are unevenly distributed across all countries in the
worlds. v'v/

. They vary from country to country and can only be exploited in places
where these resources exist. v'v/

. A country may be richly endowed with different natural resources but
less endowed with skilled labour and capital. v'v/

° Whilst others may have relative abundance of skilled labour but they

lack natural resources. v'v/
(Accept any other relevant and correct response)
(Mark to a maximum of 4 marks)
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Availability of labour resources

e Labour differs from country to country in terms of skills, knowledge,
Training, quality and cost between them. v'v/

. Some countries have highly skilled, well-paid workers and high
productivity levels. v'v/

° Skills drain occurs when the labour force migrate to countries where

labour resources are highly remunerated. v'v/
(Accept any other relevant and correct response)
(Mark to a maximum of 4 marks)

2.5 How does an ineffective tax system affect the efficiency of the

government? (8)

° Less tax revenue may be accumulated due to tax evasion and untraced
taxes. v'v

o Ineffective tax system hinders the ability of the state to provide public
goods. v v

. It will accumulate state debt as the government will be compelled to
borrow in order to make a provision. v'v/

e Tax evasion may result to overspending caused by high levels of
disposable income, this can off-set inflation. v'v

. An ineffective tax system can be associated with disinvestments as tax
brings investor confidence. v v

o Failure to collect taxes can further exacerbate the level of inequality on

the economy as taxes are used as a tool to promote economic equity. v'v'
(Accept any other relevant and correct response)
(Mere listing of facts, mark to the maximum of 2 marks)

QUESTION 3: MACRO-ECONOMICS 40 MARKS - 30 MINUTES

3.1 Answer the following questions.

3.1.1 Name any TWO sub- accounts of the balance of payments. (2)
® Current account v
o Capital transfer account v/
° Financial account v/

3.1.2 What is the negative effect of corruption on the standard of living?

(2)

. Corruption results to the embezzlement of state funds hence decelerating
economic development. v'v/
» Corrupt officials use state funds to advance their personal interest; this

further opens the inequality gap. v'v/
(Accept any other relevant and correct response)

3.2 DATA-RESPONSE:
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3.2.1 Identify the fiscal instrument that is discussed on the above article.

Budget v / Medium-Term Budget Policy Statement (MTBPS) v

3.2.2 Give any example of direct tax. (2)
. Income tax v’
° Capital gains tax v’
o Transfer tax v/

(Accept any other relevant and correct response)

3.2.3 Briefly describe the term bureaucracy.

March 2024 Common Test

(1)

(2)

Bureaucracy is a formal organizational structure characterized by hierarchical levels of
authority,standardized procedures and strict adherence to rigid rules and regulations. v'v/

(Accept any other relevant and correct response)

3.2.4 Why is important for the government to ensure that public funds are
not poorly managed?

. Embezzlement of state funds hinders the ability of government to
provide public services at the right quantities and in the right time. v'v/
. When state funds are poorly managed, the state fails to achieve its

macro-economic objectives therefore causing public sector failure. v'v/
(Accept any other relevant and correct response)

3.2.5 How does a decline (decrease) in tax revenue negatively affect the

economy?

s A decline in tax revenue lowers the standard of living as the state relies
on the tax base to fund community projects. v'v/

. When tax revenue decreases, the government is not able to render

support to businesses by giving grants, subsidies, etc. this means that
businesses must bear all the costs and consolidate by increasing
prices. vv

s A low tax revenue for the state implies that the government struggles
when it comes to infrastructural development of the country, this
decelerates (slows) down economic growth. v'v/

. A decline in tax revenue is synonymous to an increase in consumption
spending and high inflation rate. vv/

(Accept any other relevant and correct response)

3.3. DATA-RESPONSE
3.3.1 Identify the index of export prices in the year 2022.
200 v
3.3.2 What is the trend of import prices from the table above?

Increasing v’/ Upward v

(2)

(4)

(1)

1)
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3.3.3 Briefly describe the term foreign direct investment. (2)

Foreign direct investment (FDI) refers to the ownership stake in a foreign
company or project made by investor, company or government from another
country., vv'

(Accept any other relevant and correct response)

3.3.4 What benefit will an increase in the index of export prices have on the
economy?

. The index of export prices as this is deemed as an injection therefore it
kicks the multiplier for the South African economy. v'v’

° An increase in the index of export prices signals an increase in output
levels, and improvement in the level of economic activities and economic
growth. v'v/

(Accept any other relevant and correct response)

3.3.5. Calculate the terms of trade for 2022 (A). (Show ALL calculations). (4)

W x 22 v =1226v

163+ 1

3.4 Briefly discuss politicians and special interest groups as reasons for

public sector failure. (8)
Politicians
. Politicians are often interested in being re-elected to their positions
rather than serving the public. vv
o They often pursue vote-maximising strategies to secure or
retain their political offices. v'v'
. The pressure of looming election often can make many politicians
make decisions just to make the voting public happy. v'v
. Some projects can be undertaken even if they were not budgeted for

or no proper cost benefit analysis was conducted. v'v/
(Accept any other relevant and correct)
(Mark to a maximum of 4 marks)

Special interest groups (rent seeking groups)

o Rent seeking refers to when people spend money on lobbying in order
to increase their wealth without actually creating any more wealth. vv/

. Special interest groups such as farmers or organised labor often
attempt to influence government to their own advantage. vv/

. They make use of the law, lobbying, bribes and other favors to

influence the government officials to act in their interest. v'v/
(Accept any other relevant and correct response)

Copyright Reserved Please Turn Over



Economigs March 2024 Common Test

ownloaded from Stanmonerp.k&aj.gis& com
(Mark to the maximum of 4 marks)

3.5 How does borrowing to finance a deficit on the balance of payment
affect economic stability? (8)

. Interest Rates: Increased government borrowing can put upward pressure on the
interest rates, especially if the government competes with the private sector for the
funds and they can dampen investment and consumption, potentially slowing
economic growth. v'v/

. Crowding Out When the government borrows heavily, it may reduce the
availability of funds for private investments. v'v/

. Debts Service Burden: A higher level of debt means a larger portion of
government revenue must be allocated to debt servicing (paying interest on the
debt) vv’

. Creditworthiness and Investor Confidence: Excessive borrowing can erode

investor confidence in a country’s ability to manage its finances, leading to higher
borrowing costs and potential capital flight. v'v*

. Inflation: In some cases, if the government borrows excessively and resorts to
monetizing the debts (printing money to finance spending) that can lead to
inflation. v'v/

. Fiscal measures implemented to counter borrowing may have long- term negative

effects on economic stability. v'v/

(Accept any other relevant and correct response)
(Mere listing of facts, mark to the maximum of 2 marks)

TOTAL SECTION B: 40 MARKS
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SECTION C

Answer ONE question from this section in the ANSWER BOOK.

QUESTION 4: MACRO-ECONOMICS 40 MARKS - 40 MINUTES
Discuss in detail the markets within the four sector model. (26)

Introduction:

A market is defined as any contact or communication between actual or potential
buyers and actual and potential sellers of goods and services. v'v/

(Accept any other relevant correct introduction) (2)
Body
Main part:
1. The Product/ goods market v
. Goods and services are traded in the product market. All participants

purchase these goods and services in the product market. v'v'
. Goods are defined as tangible items (such as food, clothing and cars)
that satisfy some human wants or need. vv

° Services are non-tangible actions (such as cleaning services, medical
care, etc.) that satisfy human wants or need. vv 1A

. Non-durable goods are those items which are used up when they are

s consumed and cannot be re-used, for example, cool drink, petrol and
electricity. vv/

. Semi-durable goods lasts a short period of time and can be used more
than once. vv/

° Durable goods can be used over again and do not wear out very easily
e.g. vehicles. vv

. Households purchase consumer goods for consumption and businesses

. purchase capital goods for use in the production process. v'v/

2 The Factor/ Resources market v
° The four factors of production are traded for income in form of wages/

salaries, interest, economic rent and profit in this market. v'v*
Copyright Reserved Please Turn Over
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Businesses purchase the factors of production from the households in the
factor market. v'v

The price and quantity traded is also determined by interaction between
supply and demand. v v/

The factor market can be further sub-divided into markets in which
different factors of production like labour, property and financial market. v'v'

3. The financial market v/

The financial market serves those who wish to save and those who wish

to borrow. vv/

The money, capital and foreign exchange markets are part of the financial
market. vv/

This sector represents financial institutions which are not directly involved
in the production of goods and services but are a link between participants
in the economy with surplus money and participants who require funds. v'v/
Households make their financial capital available to the financial sector in
the form of savings. vv

The financial sector in turn makes financial capital available to firms through
investments. v'v/

(@) Money market v/
This is used by participants as a means for borrowing and lending in short
term, from a few days to just less than 3 years. vv/
The South African Reserve Bank is a key institution in the money market. v'v/
(b) Capital market v'v/
. This is a financial market where individuals and institutions trade financial
securities in the long-term, which is 3 years and above. v v
. The JSE is the key institution in the capital market. v'v'
4. The foreign exchange market v/

In an open economy, foreign currency is needed to facilitate transaction between
countries. vv'
It is on this market that one currency can be exchanged for another. v'v/
The amount that is received in this exchange is known as exchange rate. vv
The exchange rates are normally determined by the interaction between
supply and demand. v'v
They are sometimes influenced by the Reserve bank. v'v
Foreign currency can be acquired through commercial banks. v'v
(Accept any other relevant and correct response)
(Allocate maximum of 8 marks for subheading and examples)
(Mark to a maximum of 26 marks)

Copyright Reserved Please Turn Over



Economigs

ownloaded from Stanmonerp.kgylgzaj.gis& com

March 2024 Common Test

How can an increase in consumer spending contribute to the economy of
the country? (10)

When consumers spend more:

. Businesses are able to increase sales, generate more profit and hire more
workers thereby increasing the employment rate in the country. v'v/

. The real GDP of the country increases as output levels increases. v'v

. Aggregate demand (AD) mushrooms thereby improving the country’s outlook
and accelerating economic growth rate. vv/

. The country gains a positive outlook from foreign investors therefore an
increase in foreign direct investment (FDI). v'v/

. It gives relief to the government from the burden of providing for the society
as less transfer payments are made. v'v/

. Efficient allocation of resources is promoted and choice is widened. v'v

. The country becomes globally competitive as the demand for international

goods may arise. v'v’

(Accept any other relevant and correct response)
(Allocate a maximum of 2 marks for mere listing of facts)

Conclusion:

The markets play a pivotal role in the economy, they also serve as link between
various participants in the circular flow. v'v/

(Accept any other relevant and correct conclusion)
[40]
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QUESTION 5: MACRO-ECONOMICS 40 MARKS - 40 MINUTES
Discuss in details features underpinning forecasting of business cycles. (26)
Introduction

A business cycle is the change in the level of business activity as measured by the
gross value added or GDP. vv (2)

(Accept any other relevant correct answer)
Body:
Main part

1. Leading economic indicators v’

These are indicators that change before the economy changes/ coincide with
the reference turning point. vv

They give consumers, businesses and policy makers a glimpse of where the
economy is heading. vv'

They reach the peak before the economy reaches the peak. v'v'

Most important type of indicator in helping economists to predict what the
economy will be like in the future. v'v'

When these indicators show prosperity, the level of economic activities will
also rise in a few months’ time. v'v'

e.g. number of new vehicles sold, real exports of goods, etc. v

2. Coincident economic indicators v
® Coincident indicators follow leading indicators as they tend to confirm
the turning points of the leading indicators. v'v
° They move at the same time as the economy. If the turning point of a

specific time series variable coincide with the reference turning pointv' v’
e Itindicates the current state of the economy eg. retail sales. v
o If the business cycle reaches a peak and then beginsto decline, the
value of retail sales will reach a peak and then begin to decline at the
same time. v'v'

3. Lagqging indicators v’
o They do not change direction until after the business cycle has changed
its direction. v'v/
s They serve to confirm the behavior of coincident indicators. v'v/
e.g. new machinery sold. v
. If the business cycle reaches the peak and begins to decline, we are able
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to predict the value of new machinery sold. v'v

4. Composite indicators v
. It is a grouping of various indicators of the same type into a single value. v'v/
o The single figure forms the norm for a country’s economic performance. v'v/
5. Length v
. Length is a horizontal measurement of business cycles form peak to peak or
trough to trough. v'v/
° This is the time that it takes for a business cycle to move through one
complete cycle. vv'
® It is useful to know the length because the length tends to remain relatively

constant over time and If business cycles have longer length, we consider the
economy to be strong. vv'

6. Amplitude v/

. Amplitude is a vertical measurement of business cycles from peak-trough or
trough-peak. v v/

° It is the difference between the total output between a peak and a trough. v'v/

. It measures the distance of the oscillation of a variable from the trend line. vv/

. It is the intensity of the upswing and downswing in economic activity. v'v'

e The larger the amplitude the more extreme the changes that may occur. v'v/

7. Trend line v

° A trend is the movement of the economy in a general direction. v'v/

s It usually has a positive slope because the production capacity of the
economy increases over time. vv/

. The trend will change when the time series data change their behavior
patterns of the past. However, some forces have to overcome for that to
happen. vv

e A horizontal trend-line indicates a more stable economy, while a downward
sloped trend-line shows negative growth on the economy. v'v'

. Trends are useful because they indicate the general direction in which the
economy is heading and it indicates the rate of increase or decrease in the level
of output. v'v/

8. Extrapolation v

= This is the technique of using past data to make predictions about the
future. vv

. It is also used to make economic predictions in other settings v'v" e.g.

prediction of future share price. v'.
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9. Moving averagesv’
) It is a statistical analytical tool that is used to analyse the changes that
occur in a series of data over a certain period of time. v'v/
o Moving averages can be calculated for the past three months in order to
smooth out any minor fluctuations. v'v/
° Moving average evens out the cyclical fluctuations and provides a clear

indication of long-term trendsv'v".
(Max.26)
(Accept any other relevant and correct response)
(Mark sub-headings and examples to a maximum of 8 marks)

How can South African Reserve Bank (SARB) use monetary measures to correct
fluctuations on the economy? (10)

The Reserve bank may:
° Increase or decrease the repo rate therefore forcing commercial banks

to increase or decrease interest rates thereby controlling borrowing and
expenditure. v'v/

. Use moral suasion by Increasing or relaxing regulations pertaining to
credit trading. vv/

- Increase or decrease money supply by printing more notes and coins to
control money in circulation. v'v/

. Implement open-market transactions by selling or buying government
bonds to rationalise the supply of money that is available to consumers. vv/

. Use exchange rate controls by either using a free-floating exchange rate
policy or a managed floating exchange rate policy. v'v'

. Use cash reserve requirements to occasionally change balances the

banks are required to maintain in order to manipulate the money creation
activities of the banks. vv/
(Accept any other relevant and correct response)
Conclusion
Economists need to foretell what is likely to happen in the economy by studying and
monitoring a variety of economic variables. v v/
(Accept any other relevant correct answer ) (2)
TOTAL SECTION C: 40 MARKS

GRAND TOTAL: 100 MARKS
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